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= 1,398
T 979
Al 2,283
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= 4,94
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180,000 *5H 900
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& 189
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— X0t 4 (=AYl
45,0002 x27H 1,215
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Al 5%
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oolgte] ng LA
150,000 & *B0AI 2¢ 12,000
= 3,600
= 2,520
Al 5,880
019t HE HIAAE OIX AOIE W= 30,000 30,000 0
& 9,000
Al 21,000
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= 4,200
Al 9,800
O usgd dUSKIA XSAS
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< 4,800
Al 11,200
=UHFGLULRAS o =& 1,900 1,900 0
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S 3%
Al 931
201 =3 1,900 1,900 0
= 570
=S 39
Al 931
01 AlR22IH| 1,900 1,900 0
OR0IH0I pIgIol & &1 Y|
1,900,0002 *12] 1,900
= 570
=S 399
Al 931
AN stde Y=H 25 33,600 21,000 12,600
= 10,080
= 7,0%
Al 16,464
201 etz 3| 33,600 21,000 12,600
= 10,080
= 7,0%
Al 16,464
01 AtR2t2|HI 33,600 21,000 12,600
OougAll stdy Ld=H 25
42,0003 +800H 33,600
= 10,080
= 7,0%
Al 16,464
dHYIPH(MESZm) 219,618 159,698 59,920
el 2| 131,622 85,298 46,224
el 24| 131,622 85,298 46,224
101 @124H| 131,622 85,298 46,224
01 &= 127,626 81,497 46,129
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OAlIZte 224
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JlE2&H| 88,096 74,400 13,696
J123&H| 88,096 74,400 13,696
201 B2 AY| 28,216 34,920 A6, 704
01 ArR22lt| 25,972 27,924 A1,952
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01 =LHO4 b 43,680 35,280 8,400
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203 AR F=&lh| 9,200 4,200 5,000
01 J| 22 HRFA| 4,400 0 4,400
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405 KHHE S| 7,000 7,000
01 XML =EF S| 7,000 7,000
OAIR4 =APD| 7Y
7,000,000 *1CH 7,000
HRes(HMEsZ ) 1,781,327 1,685,342 95,985
LHEHH K= 1,781,327 1,685,342 95,985
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